y . 5. Please give each of the following terms a brief description:
.ﬁ; ib%‘]’éﬁk'ﬁi 101 %@Jg é\:}:}}}-%{g i%%ﬁt (1) IP address  { 5%)

(2) Domain Name Service (5%)

hprtan) 4130 TE T RAEBTHE AR LERE (3) Local Area Network (LAN)  ( 5%)
E’ﬁ _ ﬁﬁ _“ 7} {\24 % 5 “‘é\a’ > 3‘2 ﬁg_ (4) Network topology  ( 5%)

6. Please give a brief description about supply chain management (SCM), and use an

example describe how the information technology can be used to support the SCM. ( 15%)
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1. Letthe daglts O 9 and the 1etters A F be the hexademmai d1g1ts wﬁn vaiues of demmal G to 15.
Please compute the following expression and give the results in hexadecimal form.
(1) 3A+2B  (5%)
(2) 10xC3 (5%)

2. Let the arithmetic expression be (AxB+C)xD-(E+F).
(1) Please draw a binary tree to represent the arithmetic expression given above. (10%)
(2) List the post-order traversal of the binary tree obtained in (1). (10%)

3. The factorial of a positive integer , denoted by factorial(n), is defined by

1, if =0

nx{n-1x---x2x1, if n=0

(1) Use the recursive representation to rewrite the definition of the function factorial(#).
(10%)

(2) Write a computer program (C, C++, or Java) to implement the recursive version of the

factorial function. (10%)

factorial(n)= {

4. Write a computer program (C, C++, or Java) that asks the user for a height of a triangle and
then output a right triangle with the input height. For example, if the height is 5, the right

triangle would appear as follows: (15%)
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